
ITEM PART NO. DESCRIPTION QTY
1 32416 CLAMP GALVANISED 8
2 45963-2 M12 x 350MM STUDDING S/S 4
3 7708 M12 PLAIN WASHER S/S 12
4 24210 M12 SPRING WASHER S/S 4
5 7709 M12 FULL NUT S/S 16

DWG NO.

9256553
DIMENSIONS ARE IN MILLIMETERS

UNLESS OTHERWISE SPECIFIED 

without prior permission.
2

SHEET 1 OF 1

JAYBEAM LTD. Reserve the right to alter or modify

TITLE:

©   JAYBEAM LTD. No copying in any form whatsoever
ISSUE:dimensions and specifications without notice.

4220 / 4240 COLINEAR ANTENNA WITH PARALLEL MOUNTING BRACKET 
Ø38-Ø120 (P/N 2141.01.00.00)

2
0
0
 
M
IN

4

2

SCAFF

3

ANTENNA

1

5

3

5

5

3

5

TORQUE SETTING

M12 - 40Nm



34050

2
0
0

2

1

TOLERANCES:

-

SCALE:

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

75 6

UNLESS OTHERWISE STATED

0.5

CHECKED

THE COPYRIGHT OF THIS DOCUMENT IS RESERVED BY JAYBEAM LTD. 

0.000

IN PART WITHOUT THE WRITTEN CONSENT OF JAYBEAM LTD

FIRST USED ON: MOUNTING

0

0.05

C
REPRODUCED OR DISPLAYED TO A THIRD PARTY EITHER WHOLLY OR IF IN DOUBT, ASK

PROJECTION
NAME PARALLEL CLAMP G.A.

SEE BOM

3

16/06/2017

20/06/2017LAS

A3
SHEET 1 OF 1

NTS

DWG NO.

TITLE:

DO NOT SCALE DRAWING

MATERIAL:

DATE

ISSUE:
2141.9000

THIRD ANGLE

CS

SEE NOTES

DRAWN

DEBURR AND BREAK SHARP EDGES

0.0

8

ARE IN MILLIMETERS

F

0.10.00

FINISH:

IT IS ISSUED IN CONFIDENCE AND MUST NOT BE COPIED, 

2141.01.00.00

PART No:

UNLESS OTHERWISE SPECIFIED DIMENSIONS

0.5
0.25

ANGULAR: 

E

ISSUE
CHANGE 
NOTE NO.

DESCRIPTION DATE APP'D

3 17-060 M12 FULL NUT QUANTITY WAS 12 20/06/2017 LAS

2 -
ADDED FIXINGS AND MODIFIED 

NOTES
02/04/13 DM

ITEM PART NO. DESCRIPTION DRG NO. QTY

1 32416 CLAMP GALVANISED 32416 8

2 45963-2 M12 x 350MM STUDDING STAINLESS STEEL A2 - 4

3 7708 M12 PLAIN WASHER STAINLESS STEEL A2 - 12

4 24210 M12 SPRING WASHER STAINLESS STEEL A2 - 4

5 7709 M12 FULL NUT STAINLESS STEEL A2 - 16

NOTES:

CLAMPS & STUDDING TO BE PLACED INTO CARTON AS 1.
SHOWN.

NUTS, SPRING & WASHERS TO BE PLACED IN SEALED 2.
TRANSPARENT BAG. 

CARTON TO BE LABELED TO SHOW:3.

              GALVANISED PARALLEL BRACKET 38-120mm (PAIR)
 P/N 2141.01.00.00
 ISSUE 3
 WEIGHT:    kg      
 

SEE NOTE 3

�

3

NOTES:

CLAMPS & STUDDING TO BE PLACED INTO CARTON AS 1.
SHOWN.

NUTS, SPRING & WASHERS TO BE PLACED IN SEALED 2.
TRANSPARENT BAG. 

CARTON TO BE LABELED TO SHOW:3.

              GALVANISED PARALLEL BRACKET 38-120mm (PAIR)
 P/N 2141.01.00.00
 ISSUE 3
 WEIGHT:    kg      
 

ITEM PART NO. DESCRIPTION DRG NO. QTY

1 32416 CLAMP GALVANISED 32416 8

2 45963-2 M12 x 350MM STUDDING STAINLESS STEEL A2 - 4

3 7708 M12 PLAIN WASHER STAINLESS STEEL A2 - 12

4 24210 M12 SPRING WASHER STAINLESS STEEL A2 - 4

5 7709 M12 FULL NUT STAINLESS STEEL A2 - 16

4 53


